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PART - I
GENERAL KNOWLEDGE AND APTITUDE TEST

1. The best practice to get thorough with the difficult lesson.
(1) To read it in the morning fime,
(2) To repeat it as many times as possible.
(3) To conduct a group discussion on it.
(4) To write it ten times.

53500008 SREPe) Horaom DeroETSEIE SEHIRNO,

(1) &Sk Shodirs whske.

(2)  pssonssn P YoTigyde Bsio.
(3) o ol wth Dorp DssEistso.
(4) O3 I Prbio.

2.  The purpose of organising Education Tour is to ...
(1) give scope to spend time with friends.
(2) give maximum happiness.
(3) give first hand understanding.

(4) give freedom to express oneself.
Dy IR AERPORLEOE’ EBHO wurnsssen
(1) Dgood NEBekol essnaiso.
(2) @b wdom), SeorEasoe.

(3) Awied Brd e dokde.

(4, s 9 8¥00BEHERA fasngm
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3. ~ When a pupil fails to understand what is taught, then the teacher-has fo ....
(1) make him to sit in the front bench.
(2" attach him to the intelligent student.
(3) advise him to listen properly while teaching.
(4) advise him to go to tuition.

(1) soseds Bod S ¥rehBeto.

(2) 30D So IMGE &% Daistio.

3) IRy S0 issen BRO0ED. .
(4) rged I Brdowo.

4, The primary factor related to pupils’ learning ....
(1) parent’s appreciation.
(2) desire to do a big job.
(3) interest in the subject.
(4) teacher’s appreciation.

D o06" TS Bowoiiole BFT SOTD e
(1) &S sy,

(2) 2% é&‘sﬁo DOUP, et

(3 owin (38%) P e,

(4) eirgrgoson Body.

5. The pupil’s mishehaviour in the classroom is to be ...
(1) check immediately and mention it now and then.
(2) checked immediately and involve him in the class work.
(3) note down and wait for a while.
 (4) checked after a number of mishehaviours.

SR L N RS e s s —

(1) Dowd DerBon eiyptidptss TR Mot Dasrd.
(2) Doesd MTOoD LB BIKS BIE sk BoSrd.
(3) WA TiabR Sotied) w9 Do,

(4) eRsSsom BOFNHF @98y JTdeT,

i
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The American who invented military submarine named ‘Turtle’ in the year
1775 ...

(1)

(3)

(4) Sir Frank Whittle

Michel Faraday

~ (2) Jacharian Jackson

David Bushnel

1775% Ho55y508" 408" & Stiole BIY RooBHR S0 €200 E:‘maa&:
(1) 2036 s

(2)
(3)
(4)

The year in which first Railway line was laid in India ....
o8’ BovesRoosed By amtio A et e

(1)
2)
3)
®

2SPO0KS )0
&b woiRd
%6 (§rok 236

1854
1844
1843
1853

iiiiiiiiii

The topper of Civil Services examination results of July 2015 ....

(1)
(2)
(3)
(4)

Ira Singhal
Lakshmi Bhavya

Renu Raj

Nidhi Gupta

&3 20156° (s5dosads v sbg '.;:Elwé‘ (5 15000 OB T wuveeess

(1)
(2)
(3)
(4)

20° ORI

o8 4%
e T8

20 1o
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lﬂl'

Number of fundamental duties in Indian Con

in 1976 ....

(1)
(2)
(3)
(4)

Twelve
Ten
Eleven

Nine

stitution after 42nd amendment
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19766° 4255 55683 €50880 1P TROKOE" DIFIE DGO HOPg wvveveses

(1)
(2)
(3)
(4)

Shotss
50

S8%

S

Capital of Andhra Pradesh state formed on 1st September 1953 ....

(1)
(2)
(3)
(4)

Warangal
Hyderabad
Guntur

Kurnool

1953 300t 13 883 DHES w0l TR0 DY, TEED wwevenses:

(1)
(2)
(3)
@

bﬁaﬁmﬁ
'@;ﬁwt&:
Haoea o

Eﬁ:ﬁ_}m
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PART - II (A)
GENERAL ENGLISH

11. Could you lend me your watch ?

12,

13.

14,

15.

The above sentence expresses
(1) An agreement.
(2) A polite request.

(3) A polite suggestion.

(4) A permission.

When I arrived in the city, I felt like a ......... out of water.
Choose the word that best fits in the blank.

(1)
(2)
(3)
(4)

snake
prawn
crab
fish

Choose the correct spelling,
(1) Rendzous

(2) Rendezvous
(3) Randezvous

(4)

Rendezous

Q. Booklet
Code

Ramu saw a full-blooded cobra when he was going to college.
Choose the most appropriate meaning of ‘full-blooded’.

(1)
(2)
3)
(4)

strong
intelligent
bad

fast

The accident sadly resulted .........
Choose the suitable preposition that fits the blank.

(1)
(2)
(3)
(4)

with
at
in
for

the death of five persons.

(8]
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17.

18,

19,

20.
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Vamsi said, “Are these books from Amenca?”

Choose the correct indirect speech af the sentence :

(1) Vamsi told that these books were from America.

(2) Vamsi exclaimed that these books are from America.
(3) Vamsi said if these books are from America.

(4) Vamsi asked if those books were from America.

Imagine you are writing a letter to your friend, Mohan.
Choose the most appropriate salutation for this.

(1) My dear Mohan

(2) .Dear Friend

(8) My dear Friend

(4) My dearest Friend

Getting a rank in any entrance test is an uphill task.
Choose the correct meaning for the idiom ‘uphill task’.
(1) Very big hill

(2) - Difficult job

(3) Easy job

(4) Working on a hill

Choose the word that is not a synunym of ‘glamour’.
(1) Arrogant

(2) Attraction

(3) Charisma

_ (4) Bewitchment

I had scarcely put the phone down when it rang again.

The maning of the above sentence can be expressed as ... '
(1) If the phone rings, I will put it down.

(2) The phone rang so I put the phone down.

(3) No sooner had I put the phone down than it rang again.
(4) IfI put the phone down, it rang again.
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PART II (B)
GENERAL TELUGU

. F00P0 Do Ped SoTTTres AFDoBERon’ - 30 O MY

(1) SoBl wsEm
(2) 380 ¥

(3) 63 s
(4) @oirting s

. (P00’ - e 50 DB
(1) &%e

(2) >0

(3) @Se

4) oo

L SRR - Sobendd B BT - 6 Thodnt?
(1) XokoXrd

(2) &3

(3) Kotiemis

(4) deo

. B80S Dol ol BIS0NS SookuRl SIEPRE’ - B BPeoNs Wur
Fr o’ sTE?

(1) zedro Ty

(2) zogo ey

(3) epadel Ty

(4) efe® Ty

FP0 DB Y0 O - B g el Ko Biso.

(1) sspotior
(2)

(3) Hedtoto
(4) zoEas
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26, ‘wdG - BIS* H0d
(1) 235300
(2) i B0
(3) & H0d
(4) =75s%0Q

27, EDIGET0E ITHTOM Bs OO P08’ SIDTED,
(I 2es5%50e3 Bisrog
(2) Eovoahes

(3) &E{)ﬁﬁ:ﬁmm

(4) ma:;a:bg

28. ‘enBeriiotis’ - B3 DR TG
(1) 22008 twisotss
(@ wof Gk iatsd
(3) - 0B alboKy ity
(4) 200 B ot

29, B8 ot oy A 1070 BiSiay BRSBSo. Didgansi> IS DD DeisBisos. 570
S50 SHRD Moot esddsw’ - BIEW oS,

AP G)poto

30. &' wobidd erUHimt (loted’ O 3 WrE LR LACTBLY. - Bs Wrew
N0, -
(1) >
(2) S5050 Woey
(8) ewb¥oh
) modd



31.

32.

331

34.

35.

B WPy’ BIEW PETEPOTRD
(1) esEawo
(2)  esdhio
(3) e

(4) eSgden

1R DaKes’ B Wy
(1) +reo
(2) Hoo
(3) ©bvo

(4) %o

‘opo’ &0 VPR TTre
(1) ey, S0

(2) wmeo, W9

(3) Ny, Sogpo

4y &5y, 8%

5% 6 PEIHE s (BBEI0 DD,

(1) 49
(2) ‘o

(3) &
4)

"SRy B3 el
(1) wx%o

(2) ToloR)

(3) >

(4) ohy
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. DY G - &S TETOBEO 1O TR aisesees
(1) koo

(2) wodterbe

(3) @pomytsse

(4) TPraE0

. BRI’ B SO wrmereses
(1) &6d
(2) S
(3) WS
(4) S8

. B0SEY Y BI00B SO0 wsisese
(1) 13% %ovge
(2) 105 so°go
(3) 115 %owo
(4) 125 so°20

!
(1) ‘oo
(2) SPiesoo
(3) «Mesiw
(4) “HPE
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PART - I1I (A)
MATHEMATICS

41, Which of the following methods is not used for finding the solution of a pair
of linear equations in two variables. _

(1) Deviation Method
(2) Graphical Method
(3) Model Method

(4) Substitution Method

Bt S0H00S” SPA SMEPY B0 FHoUO ESAPAOD B cvnne,
(1) dses 85d

(2) Tl 5o
(3) Doesd 550
(4) PIE50 850

42, InaG.P, the 3rd term is 16 and the 10th term is 2048, then the 6th termis...

25 KordE 335 B0 16 Ho00k0 105 525530 2048 €5000% 639 5 vessrseies
(1) 124

(2) 108

(3) 128

(4) 64

(Space for Rough Work)



43. Number of symmetrical lines does a Square has ?

45.

DB KO PPN HOP seesessons
(1) 4 |

@ 1
3 2
(4) 3

. Number of faces in a pentagonal pyramid is ....

ROWGOES WG oY, B0 HOPy swrsmesses
(1) 6
(2) 5
(3 10
4) 12

Which of the following is not divisible by “11” ?

808 IS “11” 3 LPACSRIED HORg wersersen
(1) 23408
2) 10725
(3) 13431
(4) 17403
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Code
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(Space for Rough Work)
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46. Marks obtained by students of a class are tabulated below.

Marks 0-10 10-20 | 20-30 | 30-40 40 - 50
Students 3 5 11 6 5

How many students have got more than 20 marks ?

OIS SR5E° 2.5 BENO Jomgyes FRoS Brtin,ee FHwasd.

sFugee [ 0-10 | 10-20 | 20-30 | 30-40 | 40-50
P igen 3 5 11 6 5

20 35373,0 57 o9 0P8 5 HREBO?
(1) 22

2) 8

(3) 16

4 5

47. A letter is chosen from English alphabets. The probability of the letter being
avowel or a consonant is.....

esolf PO SETOS" 0.5 WXTD AIR)RYO IS, & eo eiuyrd, Frenrd
I 1O OB cvvvsesens

1 1
@ 215

@ %
@) g

(Space for Rough Work)
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49.

50.

oo | C

Mode of the following data 5, 6,9, 10,6, 12, 3, 6,11, 10, 12 is......
300 HTHDY) LTSS wluvenne 5, 6,9, 10, 6,12, 3, 6, 11, 10, 12

(3) 12
4) 10

The angle between the tangents drawn to a circle at the both ends of it’s
diameter is ...,

B TeSo FERHE Acnds Edee B3 €60 w.
(n 0°

(2) 90°

(3) 60°

(4) 45°

The mid point uf-the line segment joining the points (3, 0) and (x, y) is (1, 2).
Then x =....

Doty (3, 0) 900050 (x, y) et ¥ Tgrgpolio GBooY), Wiy Dot (1, 2) e
X =%

(1) -2

@2 1

(3) -1

(4) 2

(Space for Rough Work)
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51. The volume of a cylinder, when its height ‘h’ = diameter ‘d’, is ....
25 AP Goly, B B’ = T ‘d” 0o e BPSN00 SOSEERPERI wrereeses
1 w '
@ 4
3 B
4) 2

52. sinZ0+ cos?0 = .....
(1) secBxcosech
(2) tan®0-sec®0
(3) cot? - cosec’ 0
(4) tanOxcot0

53. The number of all subsets of A= {1, 2, 3,5}is....
A ={1,2,3,5) 5 Ko o) &5 SE0 503y wrremn
(1) 14
(2) 4
3) 8
(4) 16

- (Space for Rough Work)
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59.
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Graphof x +2y=4is a....
(1) Circle

(2) Straight line

(3) "Parabola

(4) Curved line

2+ 2 =4 Boo¥), CFdHo L crnrees

(1) Hgsw
(2) 56Y B

(3) HoHecio

(4) $¥o9

A right circular cylinder and a right circular cone have the same radius
‘r’ and same height ‘h’. The cone filled fully with liquid is poured into the
cylinder. What is the volume of the remaining empty space of the cylinder ?

23 o T, My b’ Ko 2¥ (S0 HTTE BPdo, n8 E HTTY Bk &)
03 oG ¥ (50 EXBD A KPed” Fabm 5o%sr DAY TV B35
PoR0ETEe JeB?

(1) imﬂh

2) Lt

@) =nrh

@ nrih

(Space for Rough Work)



56. Which of the following is not a Pythagorean triple ?

57.

28.

stz [C

B3 TO6* D6 DEBAS BSa T2
(1) (10,12, 16)

2 (5,12, 13)

(3) (8,15,17)

4) (3,4,5)

In AABC; D, E and F are the mid points of sides AB, BC and CA respectively.
Then ratio of the areas of the AABC and ADEF is......

AABC & gioeren AB, BC, CA o %5555 Hosopen stissm D, B 5o8ate F. esoass
AABC, ADEF 3%°0® 358 wuvrreen.

1 2:1

(2) 1:2

(3) 1:4
4) 4:1

9-345 is a/an....

(1) Integer

(2) Rational Number
(3) Natural Number
(4) Irrational Number

2-3V5 090 ¥ wuvreene.
(1) 8 Sogg

(2)  exveion Sop

(3) e oy

(4) Socdas Sow

(Space for Rough Work)
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The cost of a pair of shoes is ¥ 450. The sales tax charged was 6%. Then the
bill amount in rupees s ...,

28 2% wre §6 T 450. mﬂéﬁﬁéﬁa&bm&&mﬂﬁ%mw&&‘ﬁ%&gﬁsm
ALTIRN R S o U S

(1) 490
(2). 477
(3) 427
(4) 540

In a trapezium of area 48 sq. cms, one of the parallel sides is 5 cms long and
the distance between the two parallel sides 1s 8 cms. Then the length of the
other parallel sideincmis.....

25 Sieon Whatigmo FPu 48 ¥, Do.b. TR L¥ BIPetY 4heao U § o.b.
So00%0 Dok SHFCBY Fomre Mol EIU0 8 20.00. e Tl SIPCEY 406
5D 290 .08° currerens

(1) 5
(2) 4
3) 6
4) 7

(Space for Rough Work)
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62,

63.
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PART- III (B)
PHYSICAL SCIENCES

The force which occurs without any physical eontact between two objects is ...
(1) Resultant force !
(2) Tangential force
(3) Direct force

(4) Field force

Todio BRoDL 5y BB $10% Sowoiio LG BIDS LOEN v
(1) 908 wosw

(2) Rom o

(3) [PEK wein

(4) 3o wosw

The shortest shadow cast by a vertical object on the ground (the shadow
formed during the mid of the noon) always falls in the direction ....

(1) South East

(2) North East

(3) South West

(4) North South

PP AP Goundd D B Gy, od BiP PP WEL (D
BIGPETHO WY NG ) DOSPEP BE B recrrnnes

(1) Geso &7y

(2) &8 Brby

(8) &m0 Sy

(4) &BY &3

Gold jewellery does not become dull, because ....

(1) less Copper is mixed to get shining.

(2) its rate of reaction with air is less.

(3) it does not react with air.
(4) more Copper is mixed to get shining.

RO Doto0 §'E4 00 BoLePnS SPUEHIN werreeres
(1) B8 oy 565 BX5 TAD Seoide.

(2) &8 IS VorEits B,

(3) 30 MBS 1Y atiso.

Fav And i ad B e, AD Eeavanea,



64.

67.
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Tooth decay starts when the value of pH in the mouth is ....
(1) greater than 8.5 (2) less than 5.5
(3) greater than 5.5 (4) less than 8.5 and more than 5.5

EoBFON0 @rUodfoKws pH Q00K wuwmeeess
(1) 8.5 %8 Jy

(2) 5.5 %8 v%y9
(8) 5.5 %8
(4) 8.5 508 B¥%% $oB0k 5.5 K 8oy

The metal used in coating objects made of iron in ‘Galvanizing’ is ....

(1) Zinc (2) Copper

(3) Aluminium (4) Silver

oSt S050 4900 SRODOD TS Yraonk: E5AMES S50 wuumeeen
(1) 2% (2) oA

(3) erAwo (4) Bod

The shape of the concave mirror used in car head lights is ....

(1) Cylindrical (2) Circular
(3) Square (4) Parabolic
| 50 36 B, Hots sty HEFTY BHITO STTEN wersrires
(1) Spdrstsn ‘ (2) SHEsvsw
(3) wobE0 (4) Hovsecinm

The principle used in swiping of ATM card through a scanner is ....
(1) Fermat’s principle. .
(2) Archimedis’ principle.

(3) Bernoulli’s principle.

(4) Principle of Electro-magnetic induction.

ATM 5550 SRb8° D Dokesd® 3008 &%y MPBEY wuseseacs

(1) Do s

(2)  esOROdh BPEBEN

(3) BEY s

(4)  DBoLBAHIN0H (DO SFREBN
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68. The element having multiple valency is .....
(1 Nitrogen
(2) Phosphorous
(3) Magnesium
(4) Carbon

20T HORPEE ¥ SAPOKD 1eerresens
(1) =S

() Food

(3) ohyngswo

(4) =0

69. Read the following statements and identify the situation where work is not done.
(1) Porter putting luggage into train.
(2) Man lifting cement bags into a lorry.
(3) Girl pulling a toy car on the ground.
(4) Boy trying to push a huge rock in'a playground.
Bots Dsealsss TP BOD TG D Hoisyo8® 13 2SS KGoted.
(1) 57d Fsrsveiso Deud® e,

(2) ook wress c06%3 Jbe.

(3)  eimon Tnstio B o, |
(4) /esemyon eseideod’ &) DY TOBoi e HaGioton.

70. The vehicle which has more Inertia ...
(1) Bus
(2) Bicycle
(3) Auto
(4) Car

Qo) 2GS0 E0 TIWPNO e
(1) sy
(2) 286
3) e
(4) =%
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PART-IN(C)
BIOLOGICAL SCIENCES

71. ‘Thalassemia’ is an inherited disease in human beings, which is related to ....
(1) Blood platelets
(2) Haemoglobin
(3) White blood cells
(4) Plasma
SPSHIE PO Bk SotRBeIst; TP B Sowefolso.
(1) UESolsen
2) “rariDS
(3) So IfSeren
4) >

72. A student of 8th class collected hay and soaked it in pond water for 4 days. This
activity is done to study the growth of a ....
(1) Fungi
(2' Bacteria
(3) Virus
(4) Protozoan

DL B DY MoEoGd Hdod I Y HAE evlt> Ferew TSR, ¥4
s B ePi5HR egkise Dot &Gendso.

(1) ¥Dogsions

(2) wriooir

(3) 206

(4) @ERS*E%S

73. Vitamin ‘B,’ : Riboflavin :: Vitamin ‘C": ...
(1) Tocoferol
(2) Cyanocobalamine
(3) Calciferol
(4) Ascorbic acid

D000 By’ s DE'HDS 12 DS B’ ¢ sueersssarseens
() o
(2) PIEPOBS

(3) o
(4) o530 OE eE
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75.

76.

77-
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Examples of closed type circulation system among the following is ....
(1) Jelly fish, Star fish (2) Cockroach, Snail
(3) Leech, Butterfly (4) Octopus, Earthworm
Bo0 IS S0k UY (UL TS ATUREID wurssesen.
(1) 8H3s, 55638 (2) &0o%, %
(3) =mok, herS%s Den (4) e85, Tedn
Most esséntial substance that is needed for the natural immunity in an infant.
(1) B.C.G. vaccine (2) Triple antigen
(8) Cow milk (4) Colostrum
SIS PPE” e PO WEGEED DO STFHLY SIGID ovvrrrer
(1) D22 >3S (2) 9 eoddS
(3) ey e (4) “Soge e
The plant which propogates through ‘stolon’ is ....
(1) Dabhlia (2) Onion
(3) Strawberry (4) Ginger
Fod T TDEFEY 200 BV, cerreesens |
(1) =dosr (2) &
(3) g:zs@ (4) eoo
Identify the incorrect statement.

(1) After paddy cultivation, blackgram cultivation prevents Tungro virus
. disease on paddy.
(2) 'Only some plant leaves can be used as green manure,
(3) Use of vermi-compost is far better than chemical fertilizers.
(4) Absorption of Carbon-di-oxide and evaporation of water takes place
through stomata in plants.

300 6" 253 S0GVSO 0. AR Jowof'ed.,

(1) B0 BN Bo Doibosiase How Bods $O6° 50 exolfi P winys’ dowsi.
(2) 50 DKo esoss SMED 5I) MoPm SBAPAEEHEy.

(3)  BROUN Rio TS0 KT $0,5IF Wis¥o WodA.

(4) e SPYoTe T THHR-B-058 55 [rod, I Ded &b Wred’ Dt o,
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78. TMC is used to express the total amount of water available in a reservoir. The
units of measurement of TMC is ....

(1) Feet

(2) Litres
(3) Meters
(4) Yards

¥ Duoraiob6™D wotionrend® &) Hed Degss .00, 08 BesHT, 8.cho.. I Teots

79. One of the following is related to AIDS tr&atﬁent.

300 6° 2563 AIDS e D3ty% Sowcfodisd.
(1) OPV
(2) ART
(3) ARV
(4) BCG

80. One of the following does not relate to Xylem ....
(1) Parenchyma. .
(2) Elongated tracheid cells.
(3) Long sieve cells.
(4) Fibres.
208 S’ LX) DB Dok,
(1) %90 ¥evwroe
(2) P oolio Koo
(3) ;DI TR Sewew

(4) BotoHe
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PART - III (D)
SOCIAL STUDIES
81, At present the number of Lok Sabha Constituencies in Andhra Pradesh are ....

S0 w0 856" 668¢ DAPeY 500 Bow; e
(1) 25

(2 27
(3 15
4 17

82. This would not be the developmental goal of a girl from a rich urban family.
(1) foreign education.
(2) as much freedom as her brothers.
(3) decision making about her future.
(4) rural life connected with primary sector.

54369 (P00’ NN Korsorrdd Dol wamond 30 e o o vow EosEFsuy,.
(1) el ;.

(2) i Aesodd wsmsns S,

(3) &% $DHT) KxBoD ok ARG o

(4)  (yaox boriod' Sowedio Ko (ries Hode.

83. The reason behind the Government subsidies is ....
(1) for the future of the nation.
(2) the welfare of the people.
(3) the surplus income.
(4) for the benefit of leaders.

3ot SO 33 S0,
(1) O% gty 6%

(2) (= Sogsee

(3) Doles eorae

(4) Do oS
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84. The great person who gave the slogan ‘Chalo Delhi’ in March,1944 was ...
(1) Shastriji
(2) Gandhiji
(3) Nehruji
(4) Subhash Chandra Boseji

1944 5956 403 B550d? & I oA My B3 wevesernes
(1) e

(2) mobd

(8) Jprored

(4 oprR o %4

85. The traditional Indian season ‘Sharad’ is relatgxl to these two months.
(1) January - February

(2) March - April

(3) September - October

(4) July - August

FOPAD LPEBOD GHS! st B4 Do Fvek Bonolondd.
(1) 2580 - p(essd

(2) 528 - b

(3) owto - a8

(4) &8 - ey

86. In 1906, the Muslim League was first formed at this place.

(1) Islamabad
(2) Lahore

(3) Dhaka

(4) Lucknow

1906&° 000 I eI 55,65 I DadSe.
(1) 3Farws

(2) o6

@) &=

(4) * o8

rom
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87. The Article of the Constitution which provides free and competent legal
services to the weaker sections of the society.

(1) Article - 39 (A)
(2) Article - 27 (A)
(3) Article - 37 (A)
(4) Article - 38 (B)

Sirnod® i, wolrd Soo T 406 TEH Bidbe woBotmis TENCN

(2) edxte 27 (2)
(3) w06 37 (V)

(4) Q56 38 (D)

88. “The number of females in India has consistently been lower than that of men.”
One of the following statement reveals the present position of women in terms

of ‘Sex Ratio’.

(1) Inequal opportunities in education and development.
(2) Infanticide.

(3) A hidden form of discrimination against women.

(4) Women in higher positions.

“gR5 Tiiod” oo 508 Nsntir Jo Bops BEITD &50.”
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89. The water dividing hills/mountains between the major peninsular rivers joining

the Bay of Bengal and small rivulets joining the Arabian sea, are ....

(1) The Vindhya and Satpura mountains.

(2) The Nilagiris.

(3) The Aravallis.

(4) The Western ghats.

ROmBod’ KD Biiey HiotH, SODNR Wines® KD Dy He Wois Mgpas
SO0 &) §%0%00 [S5E) ...
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(2) Qoitoos

(3) eorHdes

(4) B3 Ssosoes

90. The region where the ‘Solar insolation’ is more ....
(1) Bangladesh

(2) Japan
(3) Greenland

(4) England

Ry DR JE S GO (POBED waversens
(1) woros

(2) >

(3) (Boerel ‘

(4)  goliods

91. Ocean currents are riot caused by this factor.
(1) Eclipses.
(2) Centrifugal force.
(3) Effect of winds.
(4) Precipitation.
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Privy - Purses were given to one of the following persons.
(1) Palayagaras.

(2) Zamindars.

(3) Princes of Princely states.

(4) Landlords.

‘TEEtrey G4 (00 TOE 2508 Haobedid,
(1) Sochms
(2) sdomtow

(3) W&m
(4) ﬂ?ﬂgﬁnm

“The more closely your work abides by life in its form, so much the better
will it appear.” The person who said these words.

(1) Leonard Da Vinci
(2) Albrecht Durer
(3) Erasmus

(4) Michelangelo
“ET3 B LU o 5Y ol B Lol LI Goensd.” - e Doy T,

(1) 3o @Dy -
(2) oS urgb

(3) So0d

(4) WProad

At the fime of his coronation, this person was called as the ‘Citizen King’ in
France.

(1) Louis XVI

(2) Louis XIV

(3) Louis Philippe

(4) Louis XV

FRE° Lo eGhelsHE: (Beo Tar I SEYSEESTE e,
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(2) eror XIV
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95. The mineral used for preparing ‘Stainless Steel’ is ....
(1) Asbestos
(2) Bauxite
(8) Mica
(4) Chrome |
2200585 555" BT ST SSAPAGD PII wrssene

(1) esyd®
(2) o3y
3) oz
4) &%

96. The ‘Stromboli’ volcanic muuntain ig located in ....
(1) Equador
(2) Italy
(3) Tanzania
(4) Sicily :
‘&aiﬁ%’ ehy D580 awl),E S,
(1) Bedgb
(2) =zed
(3) eFoErROSP

(4) %09

97. The reason behind the enlarged size of ‘Greenland’ in the world map is ....
(1) Map makers have much attraction.
(2) It is covered with ice.
(3) Itisin the Polar region.
(4) It has peculiar shape.

(335019 $e008” (Dm0l &) esmiiin Kam) DY WrboBRiERS o SUtas.
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On 4th May, 1919, an angry demonstration was held in Beijing to protest
against the decisions taken in ....

(1) The Weimar Republic.

(2) The Rowlatt Act,

(3) The Versailles Peace Conference.
(4) The British Parliament.

1919 % 4 % Deofé® ¥4 Aaiped $E05m A (55 20,
(1) b osds

(2) Tod vesw

(3) Ryody Tod WEFSEIN

(4) Deds oo

‘Combined Harvester’ does not perform this work.
(1) Cleaning the grain from chaff.

(2) Harvesting the crop.

(3) Manuring the crop.

(4) Threshing the crop.

SoBy 0G0 - 1 5 Dot

(1) P hom-Pogss S8 Dabio,
(2) sowss Sotbee.

(3) Howd oo dahise.

(4) oo 5r0E Baldeso.

‘Auschwitz’ was a kind of killing centre, where mass murders were done
was in this country.

(1) Iragq

(2) Germany

(3) Italy
(4) Iran
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